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WiER ERHT R B £

% # s - BRHE s ¥ 8 i & & =
BRI 16,184,760 + 211,779 16, 396, 539
EEAGHE 16, 184, 760
EERE 211,779
Z Ot [ 1 16,184,760 x 53.85% ( 35% =+ (1 — 35%) ) 8,715,493
KB RE 16,396,539 + 8,715, 493 25,112, 032
—REEERE 25,112,032 x 53.85% ( 35% = (1 — 35% ) ) — 4,861 13,517, 968
EX T 25,112,032 + 13,517, 968 38, 630, 000
HETEELE 38,630,000 x 10.00% 3,863, 000
¥BERAH 38,630,000 + 3,863,000 42,493,000




BERNRE ERFEETERMERHBNIET
& [ I - KT By = i £ % W =
B[R 16, 396, 539
HIERIEER 16, 396, 539
EETEES 16, 396, 539
FIEWHBNETE 16, 184, 760
BERWE R 11,477, 600
1 BERREREROD BETARIE, 2Tz, HURE. BFEBLGL 3.00 385, 840 1,157,520
I%
2 BEARNEHERQ ifi%“i?kl% 3~4TfEZ, EUHERE. BFLR 6.00 477,760 2, 866, 560
&L T®
3 BEEBREHMERO ;‘f%ié:t?kl% 5~7 I, ALUEE. BFLEK 1.00 578760 578. 760
E L T=
4 BHERLEHRERD BELTARIE, 21, EZERED. BFLEY 2.00 280, 320 560, 640
L T®
5 HERNEHERO® BE-BEERBRERE. 5~7 I, EUEE. 2.00 ,171, 380 2,342,760
BFLELGL -
6 BERNERIEROG® BE-BRBRERSRE. 8~11I11EE. BURE 2.00 , 398,910 2,797,820
. BERRAL -
7T BERUERERD BE - BEXAESRSE. 5~7I8E. EEHED 2.00 586, 770 1,173, 540
. BEERGL
I%
BERTLANDIEET—4 AN 3,181, 860
8 BEATLANDEET—4AND BELKRIE, 2IfEE. EUEE. BFEELGL 3.00 131, 460 394, 380
I%
I BELATLANDHET—2AHNQ BELKRIE, 3~4THEE. FURE, BFLE 6.00 164, 810 988, 860
7L -
10 BEVATFLADHBET—2ANQ HBELKRIZE, 5~7I&Ez. AUBE. BFLEE 1.00 198, 160 198, 160
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BERNRE BENFETERMERMBIER
& b I - KT By = fill & % W OE
N BEVATLAANDEET—2AH® HBEZLARIZE., 2IEE. ZERED. BFELRL 2.00 94, 550 189, 100
L T®
12 BEATLANDBET—42AHNG BEF - BEAXERSRSE. 5~7 I, SLUESE. 2.00 267,700 535, 400
BELELL s
BRBEVATLANDRET—2ANO® EBEF - -BEXBHRSRE. 8~11IiEE. BUBEE 2.00 320, 140 640, 280
. BEERGL -
14 BEATLANDBET—2AINQD BF - BAXERERE. 5~7If&Ez. ZFHEED 2.00 117, 840 235, 680
. BEERLL
I
BHEMINE - &t 518, 500
15 BEBEHURE - BERE 1.00 518, 500 518, 500
%
EAR=Rcs 817,200
16 IT&H 18.00 45, 400 817, 200
[
g - e 189, 600
17 %% - | 1.00 189, 600 189, 600
=
EERE 211,719
EHEARE 151,779
18 EXHRE 1.00 151,779 151,779
=
B 60, 000
19 XHHER 1.00 60, 000 60, 000




RER-TEIT/ Svr—o BERNETERERRBER
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L MERREEAERD BZIAIE. 2I8E. EUEE. @XkEAL 1IEYY (1T%)
% b R - BIKTiE B = B M %8 B OE B =
HEm (A)
A 0. 60 55, 200. 00 33,120
BEm (B)
A 4.80 45, 300. 00 217, 440
HEm (C)
A 3.80 35, 600. 00 135, 280
& F E%EEN  1.00TE 385, 840. 00 385, 840
5:2
& BERNEHERQ BELXAKRIE, 3~4IiEE. AUBEE. BFLERALL 1IELY (113%)
% b R - BIKTiE =-¥ivd = B M ) B E B =
BEm (A)
A 0.70 55, 200. 00 38, 640
HEm (B)
A 6. 00 45, 300. 00 271, 800
BEm (C)
A 4.70 35, 600. 00 167, 320
& F VE%EEh - 1.00T% 477, 760. 00 477,760
5:3
& BERNEHERQ BELXAKRIE, 5~7IiEE. AUBEE. BFLERLL 1IELY (113%)
£ 7 Bk - BIRT R £ £ B F] T % =
HEm (A)
A 0. 90 55, 200. 00 49, 680
BEm (B)
A 7.20 45, 300. 00 326, 160
HEm (C)
A 5.70 35, 600. 00 202, 920
& F E%EEN  1.00TE 578, 760. 00 578, 760




RiER-FET/ NV — BERNFEEEHER M ER
5:4
B BERMEHERG® BEIAIZE, 2IfEE. TEBED. BFLELL 1IELY (1TFH)
4 b R - BRTE =-Fiv] 2 B %5 = 5 &
BER (A)
A 0.50 55, 200. 00 217,600
A (B)
A 4.40 45, 300. 00 199, 320
BER (C)
A 1.50 35, 600. 00 53, 400
A& i fEZREH - 1.00TE 280, 320. 00 280, 320
5:5
£ BERNEHERG BE - - BEXBEERE. 5~7IEEz. SUEE. BFLEELL 1IE/LY (1T3H)
4 5 R - BRTR B 2 B % = 5 &
A (A)
A 1.90 55, 200. 00 104, 880
BER (B)
A 22. 60 45, 300. 00 1,023, 780
HEm (C)
A 1.20 35, 600. 00 42,720
& i E¥REH  1.00TE 1,171, 380. 00 1,171,380
5:6
& BERMEHERG® BF - EEREBESRE. 8~11I18EZ. MUBEE., BFHLELL 1IELY (1TFH)
4 b R - BRTE =-Fiv] 2 B %5 = 5 &
BER (A)
A 2.20 55, 200. 00 121, 440
A (B)
A 27.10 45, 300. 00 1,227,630
BER (C)
A 1.40 35, 600. 00 49, 840
& B E¥8eH - 1.00% 1,398, 910. 00 1,398,910
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2% BERNEEMERD B2 BEXERRE. 5~7I18%. ZEEED. EFRELL 1IEYY (1TH)
% o 1B - ARt B g B %8 w = w =
HEF (A)
A 0.70 55, 200. 00 38, 640
HEm (B)
A 12.10 45, 300. 00 548,130
& B E%8H :1.00%F 586, 770. 00 586, 770
=:8
L BEURTL~NOBET—4AND BBLAIE, 2Tz, HUEE. BFLEELL 1IEYY (1TH)
% o] 1B - Ak B 2 B % = w =
HEm (A)
A 0. 40 55, 200. 00 22,080
HEF (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 1.80 35, 600. 00 64, 080
& it E%8H :1.00%F 131, 460. 00 131, 460
=:9
L BELRTLANOHET—SAAHNQ BEBELATISE, 3~4THEE. ELUEE. BFLELL 1IE%Y (ITH)
% o 1B - Bk B g B % w = w =
HEF (A)
A 0.50 55, 200. 00 217, 600
HEm (B)
A 1.30 45, 300. 00 58, 890
HEF (C)
A 2.20 35, 600. 00 78, 320
& B {E¥8:H :1.00T%F 164, 810. 00 164, 810




RER-TEIT/ Svr—o BERNETERERRBER
=:10
L% BELRTLANOHEET—S4AHNQ BEBELATISE, 5~7THEE. ELUEE. BFLELL 1IE%Y (ITH)
% o 1B - ARt Bify % B B %8 w = w =
HEF (A)
A 0. 60 55, 200. 00 33,120
HEm (B)
A 1.60 45, 300. 00 72,480
HEF (C)
A 2.60 35, 600. 00 92, 560
& B {E¥8:H :1.00F 198, 160. 00 198, 160
=: 11
L% BELRTLANOHET—S4AH® BEBTATSE, 2TEE. ZEHED. EFLELL 1IE%Y (ITH)
2 # 1B - IR Bif % B B %8 w = " =
HEm (A)
A 0.30 55, 200. 00 16, 560
HEF (B)
A 0.70 45, 300. 00 31,710
HEm (C)
A 1.30 35, 600. 00 46, 280
& B E%8H :1.00%F 94, 550. 00 94, 550
5 :12
L MEVRATLANOHET—4ANG BE - EEERSRE, 5~7 T@E, BLURE. BFLRLL 1IEYY (1TH)
% o 1B - ARt Bify % B B %8 w = w =
HEF (A)
A 0.50 55, 200. 00 27,600
HEm (B)
A 4.20 45, 300. 00 190, 260
HEF (C)
A 1.40 35, 600. 00 49, 840
& B {E¥8:H :1.00F 267, 700. 00 267,700
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& BEVATLANDEET—4ANC BF - BETEESRE. 8~1 11 &E. HUREE. BELELL 1IELY (1TFH)
4 b R - BRTE Bf H B B %5 = 5 &
BER (A)
A 0. 60 55, 200. 00 33,120
A (B)
A 5.00 45, 300. 00 226, 500
BER (C)
A 1.70 35, 600. 00 60, 520
& B E¥8eH - 1.00% 320, 140. 00 320, 140
514
ZH BEURTLANDBET—42AND BF  BEXERSRE. 5~7I8E. TERED. BEFLBELGL 1IE/LY (1T3H)
4 5 R - BRTR B H B B % = 5 &
A (A)
A 0.30 55, 200. 00 16, 560
BER (B)
A 2.00 45, 300. 00 90, 600
HEm (C)
A 0.30 35, 600. 00 10, 680
& i E¥REH  1.00TE 117, 840. 00 117, 840
ES 15
& BEEHIINE - BERKREH 1KLY (1K)
4 5 R - BRTE Bf H B B %5 = 5 &
EXEETHEH))
A 2.50 62, 200. 00 155, 500
BER (A)
A 3.00 55, 200. 00 165, 600
A (B)
A 2.00 45, 300. 00 90, 600
BER (C)
A 3.00 35, 600. 00 106, 800
A it fEZRES - 1.00=% 518, 500. 00 518, 500




RER-TEIT/ Svr—o BERNETERERRBER
= :16
2% Tat 1TEHY (@)
2 # 1B - IR Bif B B %8 " =
HEF (A)
A 0.50 55, 200. 00 217, 600
HEm (C)
A 0.50 35, 600. 00 17, 800
& B YE%8EH - 1.00[E 45, 400. 00 45, 400
=17
& - WE 1%y (15)
% o B - IR B g B % w =
HEF (A)
A 1.50 55, 200. 00 82, 800
HEm (C)
A 3.00 35, 600. 00 106, 800
& B E%8EH - 1.00K 189, 600. 00 189, 600
= :18
L% EHAR EEL
% o B - IR B g B %8 w =
EBARE
= 1.00 151, 779. 00 151,779
& B {E¥8:H - 1.00K 151, 779. 00 151,779
H5:19
L XERER EE)
2 # 1B - IR Bif B B %8 " =
EBERERE
= 1.00 60, 000. 00 60, 000
& it E%8EH - 1.00K 60, 000. 00 60, 000




